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2003 10 10 11

St. 1 2 3 4 5 6 7 8 9 10 Ave
10/10 10/10 10/11 10/11 10/11 10/11 10/11 10/11 10/10 10/10
1350 14:00 11:35 11:45 11:55 12:00 12:25 12:35 14:50 14:30
1322 13:22 1347 1347 1347 1347 1347 1347 1322 13:22

| 24=14.326 | 24=14202 | 24=13.204 | 24=12.975 | 24=12976 | 24=13.277 | 24=13.969 | 24=14.433 | 24=15.057 | 24=15424
| 12359458 123<59.555| 124=00.077) 124=00.327 | 124=00.565 124=01.089] 124=01.968 | 124=02.096] 124=01.555| 124=00.536

N N NE NE NE NE NE NE NE NE
310 310 300 300 300 300 300 30.0 29.0 310 302
35 25 25 43 40 40 47 6.1 45 27 39
2827 2850 2850 2850 28.80 28.80 2850 28.10 28.30 28.30 28.46
34.40 34.32 34.84 34.69 34.65 34.64 34.65 34.64 34.60 3459 34.60
H 8.3 8.3 8.3 8.3 8.3 8.3 8.3 8.3 8.3 8.3 83
T-N mg/| 0.14 0.18 0.13 0.11 0.11 0.14 0.11 0.12 0.12 0.14 0.3
T-P(mg/I 0.005 0.007 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005 0.005,
1 5 27 46 27 26 62 10 63 1 27
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